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B KRB P(x)=ay+ a;x + a,x? &
Iol [P(x)—sin(7zx)]* dx = min
MEXE0, 1] ERIERZSHEN
P,x)=1, P,(x)=x—1/2, P,(x)=x2—x+1/6

(Py,sin(m)  (Psin(wx)) , - (Pysin(m)

sin(7zx) ~ (P,,P,) (P,P,) L (x) (P,,P,) , (X)
(Py,sin(mx)) _2/z (P, .sin(7x)) _ 0
(Py, Py) 1 (P,,P) 1/12

(P,.sin(x)) (x*-12)/37°
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[—| Y o 2 1
BEFHEIE: sin(mx)~ —-4.1225(x% — x + o)
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f (x) = sin(7x)
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MATLABHF S 4K

syms X

Pl=inline('x-.5");

P2=inline('x*2-x+1/6");

cO=int(sin(pi*x),0,1);
c1=int(P1(x)*sin(pi*x),0,1)/int(P1(x)*P1(x),0,1);
c2=int(P2(x)*sin(pi*x),0,1)/int(P2(x)*P2(x),0,1)
numeric([c0,c1,c2])

ans = 0.6366 0 -4.1225

P=inline('0.6366-4.1225%(x.”2-x+1/6)")
t=0:.1:1;y=sin(pi*t);pp=P(t);plot(t,y,t,pp,'0")
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